100 Questions

Que. 1 Who among the following has been awarded the Nobel prize 2020 in physiology or medicine?
1. Louise Gliick
2.  Emmanuelle Charpentier
3.  Roger Penrose
4. Harvey J. Alter
5. None of the above
Testbook Solution Correct Option - 4

Que. 2 'Cricket World Cup: The Indian Challenge' book is authored by which noted commentator?
1. Ashish Ray
2. Harsha Bhogle
3. Sanjay Manjrekar
4. Neeraj M Mehra
5. None of the above
Testbook Solution Correct Option - 1

Que.3 What is the full form of DIPAM?
1. Department of Investment and Public Account Management
2. Department of Investment and Public Asset Management
3. Department of Investment and Public Association Management
4. Department of Agricultural Management
5. None of the above
Testbook Solution Correct Option - 2

Que. 4 Fund transfer through Real-Time Gross Settlement and National Electronic Funds Transfer systems
became cheaper from 1 July 2019. The NEFT system is for fund transfers of up to Rs. lakh.

1. 1
2. 15
3. 2
4. 25
5. No upper limit.
Testbook Solution Correct Option - 5

Que. 5 Which of the following terms is not related to banking sector?
1. CRR
2. Actuary
3. Repo Rate
4. Marginal Standing Facility



5. All of these
Testbook Solution Correct Option - 2

Que. 6 The Imperial Bank of India transformed into State Bank of India in the year

1. 1921
2. 1955
3. 1935
4. 1926

5.  None of the above
Testbook Solution Correct Option - 2

Que. 7 EXIM Bank was established in .

1. 1980
2. 1982
3. 1985
4. 1990
5. 1990

Testbook Solution Correct Option - 2

Que. 8 Venugopal Chandrasekhar passed away in May 2021. He was related to which sport?

1. Badminton
2. Table Tennis
3. Polo

4. Cricket

5.  Football

Testbook Solution Correct Option - 2

Que. 9 Reliance Jio Infocomm Limited (Jio), a subsidiary of Reliance Industries Limited (RIL), will collaborate
with which of the following to power 5G in enterprise and consumer segments nationwide?

1. Amazon Web Services
2. Google Cloud
3. Microsoft Azure
4. BigQuery
5. Kubernetes
Testbook Solution Correct Option - 2

Que. 10 When is World Youth Skills Day observed every year?
1. 10 July

2. 11 July

3. 13 July

4. 15 July

5. 20 July



Testbook Solution Correct Option - 4

Que. 11  Where is country's first Centre for Fourth Industrial Revolution been setup by The World Economic
Forum (WEF) in partnership with RIL?

1.  New Delhi
2. Mumbai
3. Bangalore
4. Hyderabad
5. Kochi
Testbook Solution Correct Option - 2

Que. 12 National Security Advisor (NSA) Ajit Doval will participate in the Shanghai Cooperation Organization
(SCO) meet in the third week of June 2021 in which city?

1. Moscow

2. Dushanbe
3. Beijing

4.  Nur-Sultan

5. Islamabad
Testbook Solution Correct Option - 2

Que. 13 NABARD was set-up in the year

1. 1980
2. 1981
3. 1982
4. 1983
5. 1984

Testbook Solution Correct Option - 3

Que. 14 The Reserve Bank of India has restricted which of the following Payment System Operator from
enrolling new domestic customers onto its card network from July 22, 2021.

1.  American Express Banking Corporation
2. Visa Worldwide Pte. Limited
3. MasterCard Asia/ Pacific Pte. Ltd.
4. Bajaj Finance Limited
5. Sodexo SVC India Pvt. Ltd.
Testbook Solution Correct Option - 3

Que. 15 For super senior citizens, aged 80 years and above, income up to lakh is exempt from tax.
1. 5

2. 8

3. 10

4. 1



5. 05
Testbook Solution Correct Option - 1

Que. 16 Momiji Nishiya has become one of the youngest individual Olympic champions in history. From
which of the following countries does she belong?

1. Russia
2. Japan
3. USA
4.  South Korea
5. Indonesia
Testbook Solution Correct Option - 2

Que. 17 In June 2021, which of the following countries was/were elected to the powerful UN Security Council
as non-permanent members for the 2022-23 term?

1. Brazil

2. UAE

3. Ghana

4, land2
5. 1,2and3

Testbook Solution Correct Option - 5

Que. 18 The Kanchenjunga is situated in-

1. Sikkim

2. Himachal Pradesh
3.  Kashmir

4.  Arunachal Pradesh
5. Kerala

Testbook Solution Correct Option - 1

Que. 19  Which of the following accounts are supported by BHIM UPI application?
1. Savings Account
2. Current Account
3. Over Draft Account
4. Both Aand B
5. None of these
Testbook Solution Correct Option - 4

Que. 20 The Monetary Policy Committee (MPC) is assigned with the task of the release of the Monetary
Policy. Who among the following is the chairperson of MPC?

1.  Union Finance Minister
2. Finance Secretary

3. Revenue Secretary



4. Governor of RBI
5. Deputy Governor of RBI
Testbook Solution Correct Option - 4

Que. 21 Recently, The Reserve Bank of India (RBI) has announced its bi-monthly monetary policy. What is
current Reverse repo rate? (Aug)

1. 4%

2. 4.25%
3. 3.35%
4. 18%
5. 3.50%

Testbook Solution Correct Option - 3

Que. 22 Ngozi Okonjo-Iweala became the first female chief of WTO, she is from which country? (Feb 2021)

1. Cameron

2. Chad
3.  Ghana
4. Nigeria

5. None of the above

Testbook Solution Correct Option - 4

Que. 23 With which among the following organizations has the Ministry of Tribal Affairs signed an MoU for
the Digital Transformation of Tribal Schools?

1. Google
2. TCS
3. Wipro
4. IBM
5. Microsoft
Testbook Solution Correct Option - 5

Que. 24 Which was the first company to get licence by the RBI to open White Label ATMS?
L. TCPSL
2. Muthoot Finance
3. Srei Infrastructure
4. HDFC
5. SBI
Testbook Solution Correct Option - 1

Que. 25 United States has banned SMIC from using American technology. SMIC is the chipmaker of which
country?

1. Norway
2. China



3.
4,
5.

Finland
Sweden

Turkey

Testbook Solution Correct Option - 2

Que. 26 Fill in the blank with the appropriate option.

1

2.
3.
4

5.

The children were lined up queue for some food.
for
on
in
since

because

Testbook Solution Correct Option - 3

Que. 27 Arrange the following parts of a sentence in the correct order and mark the correct option.

A. obsolete

B. new technological advancements

C. have rendered old technology

D. useless and

E. to a somewhat large extent

1.
2.
3.
4.

5.

ABDEC
ACBED
BDCAE
BCDEA
CDBAE

Testbook Solution Correct Option - 4

Que. 28 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the

sentence to find out whether there is any grammatical error in it. The error if any, will be in one

part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’. Ignore
the error of punctuation if any.

He ate (A) greedily the chicken sandwich (B) in the manner of (C) a starving man. (D)

1.
2.
3.
4.
5.

(A)
(B)
©
(D)

No error

Testbook Solution Correct Option - 2

Que. 29 Read the following passage and answer the questions given below. Some words may be

highlighted for you. Pay attention.

Once upon a time, not so very long ago, there was a small boy called Hari. Although he wasn’t very big, he was
strong, and he loved to tease all the boys and girls who went to school with him. What he loved to do most was



to pinch. He could make a big bruise in half a second. Another trick he played was pricking people with a pin.
So you can guess how all the children hated him. They tried pinching him back, but that was no good because he
could always pinch harder. They didn't like telling their teacher, because that was telling tales. It so happened
that the class went for a picnic to the seaside for a whole day. All the children were most excited.

On that day, the sun shone bright, and all the children were wild with excitement. They crowded into the train
and sat down — but nobody wanted to sit next to Hari because he always pinched. When they arrived at the
seaside, out jumped all the children with a shout of joy. Down to the sands they raced, hand in hand — but
nobody took Hari’s hand. Nobody went near him. Hari was angry. He went to a sandy corner near a rocky pool
and sat down by himself. He took out his lunch and looked at it. It was a good lunch. There were two hard-boiled
eggs, six jam sandwiches, three pieces of bread and butter, a ginger cake, and a bar of chocolate. He would eat it
all by himself. He wouldn't offer anything to anyone!

Just as he was beginning on the eggs, he heard a hoarse voice near him. “Good morning! I am so pleased to meet
a boy like you.” Hari turned around and stared in fright. What do you think he saw? Hari saw a monster crab
walking sideways out of the pool. His eyes were on the ends of short stalks and he looked most queer. He held
out his front claw to Hari. Hari put out his hand to shake the crab’s claw, but to his surprise and anger, the crab
opened his pincers and nipped his hand so hard that the little boy yelled.

“Ah, here is my good cousin,” said the crab pleasantly, and, to Hari’s horror, he saw a large sandy lobster
crawling heavily out of the pool. Before the little boy could stop him the lobster trapped his hand in his great
pincer-like claws and pinched it so hard that Hari yelled in pain. Then he stared at the pool in surprise, for, out
came sandy-colored shrimps and prawns, more crabs, and another large lobster and they pricked Hari till he was
soon black and blue with their pinching. “Don’t you like it?” said all the creatures in surprise. “Why, we were
told you would love to see us because you were a champion pincher and pricker yourself. Come, come join in the
fun!” Hari leaped to his feet, crying loudly. His lunch rolled into the pool, and when the crabs and lobsters saw it
they ran to it and began to feast eagerly. Hari saw that they had forgotten him for a time, and he turned and ran
for his life, tears streaming down his cheeks. “They only did to me what I keep doing to the other children,” he
thought. “But how it hurt! And how I hated those crabs and lobsters! I suppose the other children hate me too.
Well, I jolly well shan’t pinch or prick anymore.”

What is the synonym of 'angry'?

1. Furious
2. Calm

3. Pleased
4. Peaceful

5.  Good-humoured

Testbook Solution Correct Option - 1

Que. 30 What is the antonym of 'hated'?

1. Loved
2. Smashed
3. Ignored

4. Despised
5. Detested

Testbook Solution Correct Option - 1

Que. 31 What is the antonym of 'trapped'?
1. Confined
2. Cheated



3. Tricked
4. Freed
5. Imprisoned
Testbook Solution Correct Option - 4

Que. 32 Why did all the children hate Hari?
1. Because he would not talk to anyone
2. Because he loved stealing their food
3. Because he always pinched them
4. Because he always slapped them
5. None of these
Testbook Solution Correct Option - 3

Que. 33 “Nobody took Hari’s hand. Nobody went near him. Nobody played with him.” This shows that Hari
had

1. Many Friends
2.  Few Friends
3. No friends
4. No enemies
5.  None of these
Testbook Solution Correct Option - 3

Que. 34 Hari was pinched till he was black and blue. ‘Black and blue’ means
1. Hari fell down in pain
2. There were bruises on his body
3. Hari painted himself in colours
4. Hari had a black and blue shirt
5. None of these
Testbook Solution Correct Option - 2

Que. 35 What did the crab do to Hari?
1. Pushed him in the pool
2. Opened his pincers and pinched his hand
3. Pricked him with a pin
4. Tore his shirt with claws
5. None of these
Testbook Solution Correct Option - 2

Que. 36  Which trick did Hari play other than pinching?
1. Scaring children
2. Hiding notebooks of children
3. Beating people with stick



4.  Pricking people with a pin
5. None of these
Testbook Solution Correct Option - 4

Que. 37 Where did the class go for a picnic?
1. To the Seaside
2. To the mountains
3. To the city square
4. To the museum
5. None of these
Testbook Solution Correct Option - 1

Que. 38 In the following question, a sentence is given with four words marked as (A), (B), (C) and (D).

These words may or may not be placed in a correct order. Four options with different
arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer.

Taylor’s husband repent(A) to continues(B) for cheating in the past(C), but she isn’t sure that his apologies(D)
are sincere.

1. A-C
2. C-D
3. A-B
4. B-C

5. No arrangements
Testbook Solution Correct Option - 3

Que. 39 In the following question, one phrase has been printed in bold. Select the correct meaning of the
phrase from the options given below.

After being soundly defeated in the argument, the conservative commentator started grasping at straws for a
semblance of victory.

1. trying to catch the floating straws
2. collecting memories of thrones made of straws
3. desperate and pursuing every hope and possibility
4. avoiding all contact
5. none of the above
Testbook Solution Correct Option - 3

Que. 40 Fill in the blank with the appropriate option.

The number of incomplete projects as compared to the completed ones from 10% in 2014
to 18% in 2018.

1. has increased

2. have increased
3. increased
4,

has been increasing



5. had increased

Testbook Solution Correct Option - 3

Que. 41 Determine the erroneous part in the options given below. If there is no error, choose Option 5-No
error.

1. Everybody must
2. bring their
3.  own lunch
4. to school
5. No error
Testbook Solution Correct Option - 2

Que. 42 Arrange the following parts of a sentence in the correct order and mark the correct option.
A. done to pacify the

B. wouldn't damage

C. spirits so that they

D. the crops or cause anyone grief

E. these sacrifices were

1. EACBD
2. EDCAB
3. BACDE
4. ADCBE
5. BCADE

Testbook Solution Correct Option - 1

Que. 43 Arrange the following parts of a sentence in the correct order and mark the correct option.
A. couldn't hita

B. she had a laser

C. target two feet

D. gun, even if she

E. in front of her

1. BDACE
2. BADEC
3. ADEBC
4. CDABE
5. EDBAC

Testbook Solution Correct Option - 1

Que. 44 Arrange the following parts of a sentence in the correct order and mark the correct option.
A. afternoon for a walk at Ocean Beach
B. white man came running at



C. It was a beautiful Sunday
D. my elderly father and me

E. in San Francisco when a

1. CAEBD
2. DABCE
3. BECAD
4. CAEDB
5. CEABD

Testbook Solution Correct Option - 1

Que. 45 Arrange the following parts of a sentence in the correct order and mark the correct option.
A. found his copy
B. of the bicycle
C. he fished around until he
D. at the Byrne home.

E. magazine he'd seen

1. DEABC
2. ABCDE
3. CABED
4. CABDE
5. CDABE

Testbook Solution Correct Option - 3

Que. 46 Direction: There is a blank in the sentence given below. From the words given in the options,
choose the one that fits into the blank most appropriately.

It is known that young infants often stop breathing for short periods of time, then and start again.
1. fight
2. swirl
3. gasp
4. entangle
5. carry

Testbook Solution Correct Option - 3

Que. 47 Direction: There is a blank in the sentence given below. From the words given in the options,
choose the one that fits into the blank most appropriately.

Also, there is a mock exam at the end of the textbook, which is useful.
1. quite
2. quiet
3. quit
4. quilt
5. query

Testbook Solution Correct Option - 1



Que. 48 Direction: There is a blank in the sentence given below. From the words given in the options,

choose the one that fits into the blank most appropriately.

Chances are if you have a bruise, it may be by small cuts or peeled skin.
1. steer
2. accompanied
3. justified
4. carried
5. escort

Testbook Solution Correct Option - 2

Que. 49 In the following question, a word has been given. Choose the sentence(s) in which it is used

correctly and if all the sentences are correct then choose Option 5.

HUNGER
A. The stray dog looked hunger and cold.

B. A world without hunger, disease, ignorance, poverty, and war is a perfect world.

C. But sudden and intense hunger has numerous and complicated causes and can only be eliminated by
addressing the chief ones.

1.
2.
3.
4.
5.

A and B

Aand C

Band C

Only C
AllA,Band C

Testbook Solution Correct Option - 3

Que. 50 Read the following sentence and determine whether there is any error in it. The error, if any, will

be in one part of the sentence. If the sentence is error-free, then select ‘No Error’ as your answer.

Despite of the rain, the parade went(A)/on uninterruptedly which was followed by(B)/ the President’s
address and other formal (C)/ festivities of the Republic Day. (D)

1.
2.
3.
4.
5.

A
B
C
D

No Error

Testbook Solution Correct Option - 1

Que. 51 What will come in the place of the question mark ‘?” in the following question?

A A

20 - 10% =41 - 92
12
10
7
11
None of these



Testbook Solution Correct Option - 4

Que. 52 What should come in place of the question mark '?" in the following question?
10% of 450 - (8 x 5)=7x5

1. 82

2. 2

3. 1

4. 5

5. None of these
Testbook Solution Correct Option - 3

Que. 53 What should come in place of the question mark (?) in the following question?
78+6x5+V625=2x9

1.

2. 8
3. 10
4. 7
5. 6

Testbook Solution Correct Option - 3

Que. 54 What will come in the place of the question mark ‘?’ in the following question?

[(130)% + 25 x 15] + 60 = (?)?

1. 13
2. 23
3. 15
4. 9

5. 19

Testbook Solution Correct Option - 1

Que. 55 What will come in the place of the question mark ‘?’ in the following question?
125% of 444 - (5 x 11)=? x5

1. 200
2. 150
3. 300
4. 100

5. None of these
Testbook Solution Correct Option - 4

Que. 56 What will come in the place of the question mark ‘?’ in the following question?
(60% of 375) - (85% of 230) =?
1. 298



2. 285
3. 295
4. 293
5. 265

Testbook Solution Correct Option - 3

Que. 57 What should come in place of the question mark (?) in the following question?
32x 15+ 11 x 12-22=212

1. 14
2. 16
3. 18
4. 20
5. 24

Testbook Solution Correct Option - 4

Que. 58 What will come in the place of the question mark ‘?” in the following question?
44 x 25% of 1331 + 11 =7

1. 484

2. 1132

3. 1331

4. 1231

5. None of these
Testbook Solution Correct Option - 3

Que. 59 What will come in place of the question mark (?) in the following number series?
2,7,15,29,52,?
1. 77
2. 97
3. 67
4. 87
5. None of these
Testbook Solution Correct Option - 4

Que. 60 What will come in place of question mark (?) in the following number series?
23,7,38,53,73,98

1. 30
2. 28
3. 25
4. 32

5. None of these
Testbook Solution Correct Option - 2



Que. 61 Direction: Read the following table carefully and answer the following questions:

The following table shows the number of three items sold in five different days

Days/Sales Curd Butter Bread
Monday 2500 5000 6500
Tuesday 3000 4500 7000

Wednesday 1000 6500 8000

Thursday 1800 3000 8500

Friday 3500 7000 5000

The sales on Monday for three items is approximately what percent less than the sales on Wednesday?
1. 17%

2. 28%
3. 25%
4. 20%
5. 10%

Testbook Solution Correct Option - 5

Que. 62 Find the difference between the total items sold on Tuesday and Friday.
1. 1000

2. 500

3. 1500
4. 2000
5. 3000

Testbook Solution Correct Option - 1

Que. 63 Find the average sales of Butter over five days.

1. 5600
2. 4200
3. 5200
4. 4600
5. 3600

Testbook Solution Correct Option - 3

Que. 64 The sales of curd on Monday and Friday is what percent of the sales of Bread on Tuesday and
Wednesday?

1. 33.33%
2. 50%
3. 40%
4. 25%



5. 30%
Testbook Solution Correct Option - 3

Que. 65 Find the ratio between the sales of three items on Tuesday and Friday.

1. 19:21
2. 21:29
3. 12:25
4. 29:31
5. 16:19

Testbook Solution Correct Option - 4

Que. 66 A boat can travel with a speed of 15 km/hr in still water and the speed of the stream is 3 km/hr. The
distance travelled downstream in 12 minutes is?

I. 25km
2. 1.6km
3. 1.2km
4. 3.6km
5. 2.8km

Testbook Solution Correct Option - 4

Que. 67 A and B together can dive a trench in 8 days, which A can alone can dive in 20 days. In how many
days B alone can burrow the trench?

1. 2073
2. 40/3
3. 16/3
4. 10/3
5. 8/3

Testbook Solution Correct Option - 2

Que. 68 In what ratio grocer mix two varieties of pulses costing Rs.25 and Rs.30 per kg to get mix worth
Rs.28.75

1. 5:4
2. 13
3. 11:4
4. 9:4
5. None of these
Testbook Solution Correct Option - 2

Que. 69 Pipe A fill a cistern in 9 hours and pipe B empty the cistern in 12 hours. How much time will be taken
to fill the empty cistern, if both the pipes are opened simultaneously?

1. 36 hours
2. 39 hours
3. 42 hours



4. 45 hours
5. 30 hours
Testbook Solution Correct Option - 1

Que. 70 The sum of the present ages of two persons Aryan and Brijesh is 90. If the age of Aryan is twice that of
Brijesh, find the sum of their ages 5 years hence.

1. 95

2. 105
3. 110
4. 100

5. None of these
Testbook Solution Correct Option - 4

Que. 71 In an election a candidate who gets 58% of the votes is elected by a majority of 476 votes What is the
total number of votes polled ?

1. 2675
2. 2975
3. 3000
4. 1870
5. None of these
Testbook Solution Correct Option - 2

Que. 72 The interest on a certain deposit at 9% per annum is Rs.405 in one year. How much will be the
additional interest in one year on the same deposit at 10% per annum?

1. Rs.40.50
2. Rs.450
3. Rs.855
4. Rs. 45

5. Other than those given as options
Testbook Solution Correct Option - 4

Que. 73  The ratio of the speed of P and Q is 5 : 8. P takes 120 minutes more than Q to reach a particular place.
Find the time taken by P and Q respectively to reach the same place.

1. 320 min, 200 min
2. 200 min, 320 min
3. 320 min, 150 min
4. 200 min, 150 min
5. 150 min, 320 min
Testbook Solution Correct Option - 1

Que. 74 Salary of 3 employees A, B and C in a company is in the ratio of 2 : 1 : 3. If C gets 40000 Rs. more
than A, then find the salary of employee B.

1. 40000



el

5.

30000
55000
35000
45000

Testbook Solution Correct Option - 1

Que. 75 If the circumference of a circle is 88 cm, then find its area.

1.

A A

516 cm?
616 cm?
600 cm?
526 cm?
400 cm?

Testbook Solution Correct Option - 2

Que. 76 How many such pairs of letters are there in the word ‘APTITUDE’, each of which has as many letters

between them in the word (both forward and backward direction) as they have between them in the

English alphabetical series?

1.
2.
3.
4.
5.

None
One
Two
Three

Four

Testbook Solution Correct Option - 3

Que. 77 Direction: Study the following information carefully and answer the following questions.

There are 30 people sitting in a row all of them are facing towards north. Q is sitting third from the left

end. L is sitting exactly in between Q and S. S sits second to the left of R, who sits tenth from the right end. Five
people sit between R and N. Two people sit between M and O. Number of people between M and R are the same
as M and O. M is not an immediate neighbor of S.

Who among the following sits extreme right end.

5.

Sl e

M
O
N
S

No one

Testbook Solution Correct Option - 5

Que. 78 How many people are there between S and M?

1.
2.
3.

One
Two
Three



4.  Four
5. Five
Testbook Solution Correct Option - 4

Que. 79 If P sits third to the left of S, then the position of L with respect to P?
1. Immediate to the right
2. Fifth to the right
3. Fourth to the left
4. Fifth to the left
5. Fourth to the right
Testbook Solution Correct Option - 4

Que. 80 What is the position of L with respect to N?
1. Fourth to the right
2. Fifth to the left
3. Third to the left
4. Fourth to the left
5. None of these
Testbook Solution Correct Option - 4

Que. 81 Direction: Read the following information carefully and answer the given questions

Eight people A, B, C, D, E, F, G, and H are going to attend meetings in the eight different months viz.
January, March, April, May, July, August, September and October but not necessarily in the same order. No one
will attend the meeting after C. D attends the meeting in the month which has 30 days but before August. B
attends the meeting in the month after F. H attends the meeting in the month immediately before the person who
attends the meeting in July. Neither G nor E attends the meeting in the month of July. B and F both attend the
meeting in the months before May. E attends the meeting in the 3rd month after the month in which H attends.
How many people will attend the meeting after A?

1. Three

2. More than three
3. One

4. Two

5. Noone

Testbook Solution Correct Option - 1

Que. 82 Find odd one out?
1. F - March
2. H-May
3. A - September
4. D - September
5. B-May
Testbook Solution Correct Option - 2



Que. 83 In which month does E attend the meeting?

1. April
2. January
3. May

4. March

5. September
Testbook Solution Correct Option - 5

Que. 84 Who will attend the meeting in the month of August?

1. A
2. F
3. B
4. G
5. E

Testbook Solution Correct Option - 4

Que. 85 If all the people will attend as per the reverse alphabetical order starting from the Descending order of
the months, how many will attend the meeting as per their previous schedule?

1. One

2. Two

3. Three

4. More than three
5. Noone

Testbook Solution Correct Option - 1

Que. 86 Directions: In each of these questions, a group of numbers is given followed by four combinations of
symbols/letters numbered (A), (B), (C), (D). The numbers are to be coded as per the scheme and

the conditions given below. You have to find out which of the four combinations is correct and indicate the

answer accordingly. If none of the combinations is correct, your answer is (E) i.e. ‘None of these.’

Letter CIM[ETH[WILITIUIN[VI[X[J[I[AF
digit/symboll /| ot o |1 |4 |5|7|0|2]|6|%|*|3]|9]|@
code

Exceptions:

1) If the word begins with a consonant and ends with a vowel, code of the digits at extreme ends should be
interchanged.

2) If the word begins with a vowel and ends with a consonant, the digits at extreme ends should be coded as the
code of the consonant.

3) If both the 13" and last letters are consonant, both are to be coded as “S’.

Barring these exceptions, the other letters should be coded as per the above-mentioned scheme.
ANVUFX

1. %260@%
2. %260@9



3. 9260@%
4. %2609@
5. None of these
Testbook Solution Correct Option - 1

Que. 87 NXICVE

1. 2%3468%
2. %3426$
3. S%3426
4. $2%0634

5. None of these
Testbook Solution Correct Option - 5

Que. 88 VLHMNA

l. 951862
2. 651829
3. 651892
4. 951826

5. None of these
Testbook Solution Correct Option - 4

Que. 89 UJTLMW

1. ©O*7580©
2. ©O*758#
3. #*T58#
4. #*7580

5. None of these
Testbook Solution Correct Option - 3

Que. 90 EMNHFU

1. $821@©
2. ©8%21@$
3. $8210@
4. $812@O

5. None of these
Testbook Solution Correct Option - 1

Que. 91 Direction: Study the following information carefully and answer the given questions.

A, B, C, D, E, F and G are seven family members. B is mother of E, D is son of E. C is the only sister
of D and G; F is the father of G. F is son of A.

If P is the Father-in-Law of E, then how is A related to G?



1. Grandfather
2. Mother
3. Paternal Grandmother
4. Daughter
5. None of these
Testbook Solution Correct Option - 3

Que. 92 How is C related to E?

1. Son
2. Daughter
3.  Mother
4. Nephew

5. None of these
Testbook Solution Correct Option - 2

Que. 93 Direction: Study the following alphabet series and answer the questions that follow.

RISMOCEGNIHBKYXUFWLPAVTZDQ
Which letter is exactly midway between E and L in the given alphabetical sequence?

1. 1
2. H
3. K
4. B
5. Y

Testbook Solution Correct Option - 3

Que. 94 If every alternate letter starting with J is deleted from the given series, which of the following will be
the seventh letter from the right end?

I. 'Y
2. K
3. P
4. L
5. G

Testbook Solution Correct Option - 2

Que. 95 Four out of five are the same in a certain way and thus form a group. Which among the following does
not belong to that group?

I. M-E
2. N-B
3. F-P
4. I-E
5. A-Z

Testbook Solution Correct Option - 4



Que. 96 Which of the following element is fourth to the left of the ninth letter from the left end of the

5.

1

2.
3.
4

sequence?

Z 34~ O

X

Testbook Solution Correct Option - 1

Que. 97 If the only first half of the given sequence is reversed, how many letters will be there between M and

5.

bl

F?
12
8
10
4
6

Testbook Solution Correct Option - 5

Que. 98 Directions: Study the information given below carefully and answer the questions that follow.

P > Q means P at 1 meter to the left of Q.

P < Q means P at 1 meter to the south of Q.
P = Q means P at 1 meter to the right of Q.
P + Q means P at 1 meter to the north of Q.

In each question, first person from the left is facing north.
According to F < C = D, what is the minimum distance between D and F?

1.
2.
3.
4.
5.

2 m
22 m
2m
4m

None of these

Testbook Solution Correct Option - 1

Que. 99 According to M + P> T + G, what is the shortest distance between G and M?

l.
2.
3.
4.
5.

2+V2)m
(1+V2)m
(3+V2)m
V5 m
None of these

Testbook Solution Correct Option - 4

Que. 100 According to P <R = A <U, what is the value of PA + RU?

1.

2 m



2. 2m
3. 4m
4. 2\2m

5. None of these
Testbook Solution Correct Option - 4



